Total No. of Questions : 150 Question Paper
Total Mo, of Printed Pages : 32 Booklet Code A

BPC/CGDM

ENGLISH / TELUGU MEDIUM OO(O

HALL TICKET NUMBER i n

.

E X\
(o3
1. Foreach quastion, choosa the fram amang the four choloas given.
Bubbia tha circie of the number with HE Pancil in thick dark,

2. Don'twrite any thing i lon paper booklat. Belors leaving the examination
hall, hand answer sheat to the invigilator.

3 Do rerite imthe OMRB answer shaed.

QA ch question carmes one mark. Thera will be no negative marks for wiong
ARSwWEr.

5. The candidate |s allowed to take away the guestion paper booklet along with him
after completion of the examinalion.
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PART -1
GENERAL ENGLISH

1. She drives her car by
Choose the correct pronoun to fill in the blank.

(1) her (3) himsef
(3) hemsel 4) her sell

2. Find the odd word out of the list of four words given below :

(1) teacher (@) lecturer
: 00(0

(3) professor (4) driver
3. Shiva said, "I saw this film". 00
The reported form of the given sentence ks 6\'\

{1} Shiva said that ha has seen that
(2) Shiva said that he had seen 8\)

(3) Shiva said that he had

J{: Shiva said that | this I'llm.
4. Amarist :@@my
The tive form of the given sentence is

@ r is cleverast than any other boy.
) Amar is cleverer than any other boy.
(3) Amar is more cleverest than any other boy.
) Amar is more cleverer than any other boy.

5. Raghu is very poor. He is very honest.
The given sentence can be combined as

1) Though Raghu is very poor, he is very honesl.
{2) As Raghu is very poor, he is very honest.

{3) Raghu is 50 poor, that he is very honest.

{4) Raghu is so poor, that he is not very honest.
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6. Sita plays the veana _concers,
Choose the comect preposition 1o 1ill in the blanks.
(1) 1o {2) with
(3 at (4) in

7. Can you tell ma the way to the railway station ?
The given expression refars to the function of

_&%) Making a suggestion (2) Question
(3) Offering help (4) Seeking information O(Q

8. Viral Kohli made the highesl score in tha recenl maltch. (\
Passive form of the given senlence is

(1) The highest scora was made by Virat
(2] The highast scora has I:I-H'I'I Kohli in the recent match.

_43) Virat Kohli has been m score in the recent match.
(#) Virat Kohh had rughaslm in the recent match.
8. The bus _ %am: #19 o' clock.

frect form of the verb given in the bracket to fill in the blank.

ﬁ&ﬁ tome _42) will be coming

(1) comes

10. The teacher is amazed al her talent.
Find the corract maaning of the undardined word.

(1) wondarsd (2) shockad
i3 pleased (4} struck

11. Which word I8 pronounced in the Ssame way as humbile ?
(1) rumble (2) bundie
A3 battle {4) cattle

BPCICGDM 3] (P.T.0)
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12 - 16 Read the following passage focus on the given five blanks. They represen
five questions based on the passage. Questions appear after the passage.

Fathertodd _ (12)hewasgoingto____ (13)railway stalionto______ . [14)
his superior officer. His superior officer was coming to visit us and ha _ (15)
beangry (16} father did nol meet him at the station.
12. (1) me (2) my
(3) 1 " (4] mysell
13. (1} a {2) the
(3) an A4T no article is necessany’
14. (1) mest (2 receive ~C\*
18) see (4) receNing/
~ M
15. (1) will {SA whouikd
(3) Is 3 {ﬂ] should
16. a5 C\" (2) if
{3} s0 (4] than
17. +Jn:1r'|r'||:3.ﬁ_1I , — ___honest man.
fd stitable article
"‘f‘ﬂ?ﬂ (2) an

/ta‘}tha

(4} no anicle is necessary

18. Rahul said to Amala, “1 want to study in Germany”,
The reported form of the given sentence is
(1) Rahul told Amala that he wants to study in Germany.
,,-{2:' Rahul said that he wanted o study in Germany.
(3) Rahul said to Amala that he want to study in Germany.
(4] Rahul told Amala that he wanted to study in Gemmany

BPC/CGDM



LR ] Q. Eﬁgﬁ @_J

19. 1 __ (teach)in this cologe since 1984,
Choosa the correct form of the varb given in the bracket (o fill in the blank,
(1) have béenteaching (2] amieaching
? teaches (4) taught
hirishran___ the road.
Choose the correct preposition to fill in the blank.

{1) over (2) across (0
(3} In on O
21, How old are you ? /m N (\p
O
on

The given exprassion refers to the function of ’&\
(1} anenquiry i
)J\[a} asking a question 6 a graeling
4 .

Z2. The sitent letler in the

1) last v 6 6\(\ (2) *

S {4y first 't
23, | nelertully he (sing).
the correct form of the verb given in the bracket o fill in the blank.
(1) was singing (2) sings
(3) is singing 4 sang

24, She is fal. She is active.
The given sentance can bae combmad as
)‘,J-} Because she is lat, she is active.
(2} She is fat but she is active.
(3) As she is fat, she is aclive.
{4} She is fat, so she is active.
BPC/CGDM 5] - (PT0L)
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25. The silent letter in the word ‘Psychology’, is
(1 P 'j.i'l the second ‘o’
(3) 'r (4) the first ‘o'

26. The Titanicis _largest ship in the world.
Inser a suitable article.
(1) an (2} mo article is necessary
A3 the 4) a

27 - 31 Read the following passage. Answer the five questions given

Leng ago, people had the idea that death was like a long a sleeping
person breathes, his heart beats, he moves he dreams, I react o a louch
orf a poke. A dead parson does none of these thi

When a person dies, his heart stops beating, , and the dead person
no longer reacts or responds, After rature drops quickly and the
skin feals cold to the touch. The and may appear as bluish palches
under the skin. Several hours | les contract and the body stiffens this
condition is known as rigor r still, the dead musclas relax and the body
becomes limp again., , % \

Because the h s made up of billions of living cells, death nearly always
occurs in stagass @ heart slops beating and the blood stops circulating, cells

in all th die. Cells cannot live without the oxygen and the food that
ies. The time of dying can be meaasurad in minules, hours, or even

\

. What does a sleeping parson do 7
(1) hebreathes (2) his hear beats
3) he moves {4) all of the above

28. Whathappens when a person dies 7
(1} his heart stops beating
(2} breathing stops
(3) he no longer reacts or responds
/;,41 all of the above

BPC/ICGDM [&]
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28, What is Rigor Mortis 7
Rigor Mortis is a condition when after death
(1) the bady temperature drops
skin becomes cold
(3} blood settles and may appear as blue paiches under the =kin
(4} allthe above

30. Does death occur immediately or in slages 7
(1} allofasudden /,‘{-Eﬁ instages

(3} can'tsay (4} noma ~U

N\
31. Can cells live without oxyigen and food 7

B Yes (2) No (3) PM‘- V" (4) Can'tsay

32, 1 [=ea)tha imyestarday.
Choose the corract form of Wr@y in Ihe tracket to fill in the blank.
i1} wassaw \’ (2} hassaw
/1-31 saw ,‘5 (4] hadsaw
33, Sunal lﬁﬁ-&lﬁ walk vary last.
The Ward¥ast is used as alan
(N noun f_,l;z,'l pronoun
(3} adjective (4) adverb
34 My grandfather reads ___ BGible everyday.
Inser a suitable article.
AT the {2) an
(3 a {4) no arlicle is necessary
35, Gestisgood____ maths.
{1 at (2) in {3) on A4y from

BPC/ICGDM [ (P.T.O.)
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36. Jyothi dances well, Eeal
Choose the appropriate question tag to be inseried in the given blank.
(1) doesn'tshe? (2) doshe?
(3) didn'tshe _(# doesshe?

37. The silent letter in the word ‘womb’ is

(1) w ﬁ 0 (3) b (4) m

38. Identify the correctly spelt word.

conlemporary (2) contamparary 0(0
(3) conemparory {4) cantemporary

39. Pramod is a refined person. 5{'\0(\ "

The opposite of refined is 6
(1) cultured (2) crude 6 ) g‘mh.md r,I-H! civil
‘\6

40. Identify the correctly spell
,;.1-5 university ( ination  (3) atheletics (4) chompion

41. Heis an eligi lor.

Bac .

married woman (2) amamedwoman
\§ an unmarried man (4) amarmed man

42, No seal is available.

The opposite of available is

(1) unavailable {(2) non available

(3) full 44 reserve
43. Oneshouldrespect _ couniry.

Choose the correct pronoun to fill in tha blank.

(1) one’s }ZJ'hB 3 our (4) her

BPC/ICGDM [8)
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44. Find the odd word out from the list of four words givan below,
(1) apartment {2) fimt (3) housa A& plot

45. Ravi played the sitar ....... ?
Choose the appropriate quastion tag to be inserted in the given blank.
.. %) doeshe? {2) doesshe
< (3) didhe? (4) didn'the ?

46. Shall we go on a picnic next Sunday 7

The given exprassion refers fo the function of Q(O

(1) help (2) question _A3) invitation

47. Rohan ate many swoels. \'
Passive form of the given sentence is O@
(1) Many sweets were eaten wmmﬁ\)

_J2) Rohan eaten many sweels. e
(3) Many sweels a:eaata%@an_
{4) Many sweets Rohan.

48, Hml:]u 6 2 theKing.

rec:t pt&pnﬁlhun 1o il in the blank.
(3) at {4) on

Fln!m ____lget) first class in his X examination,
Choose the comrect form of the verb given in the bracket to fill in the blank,
A# isgeting  (2) hadgot (3) gets (4) got
50. Themoon____ (shine) in the nigh.
Choose the correct form of the verb given In the bracket ta fill in the blank.
,}‘} shone (2) isshining (3) shine {4) shines

BPC/CGDM 19] (P.T.0)
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PART ~ I
BIOLOGY (BIOLOGICAL SCIENCES)

51. lodine is used to test the presence of the following

(1) glucose (2) light
(3) carbon dioxide {4) starch
edrdS o dob oD S0 Hod SN

(1) %rE'5 (2) od

(3) =ehigeat r{-“} Lol Srge
00(0

52. Exchange ol gases takes place in planis through
(1} spongy lissue (2) palisade tissue (3) stomata O > midriky

,-J.u‘_,t:{‘—\.:n:“"u_ﬂ.::ﬂ»?éc-.w \
(1) e Zmeretio {El'

AB) =pogre
53. Maximum rale of respiratio 2 al
G gt B e &

(1) 80°C 5@ (3) 100°C (4) 75°C
54. Co {&n ose to pyruvic acid yields a net gain of ATP molecules is
5 T AR Dol U ATP weaiye sosy

(2) 38 (3772 (4) 40

55. Which of the following plays a major role in respiration in woman 7

(1) diaphragm  (2) ribs (3) epiglottis (4) larynx

mod’ T Dt S0EE’ g Ip Sirals

4) eostomn () Motuen (3 anelnr (4) sl
56. Trachea are found in

(1) megascolex (2} bony fish (3) salamander (4) butter fly

Bofs o o o dD

(1) omdn 26, ,_,121 il d (3) recroch (4) herEs Dens

BPC/CGDM [10]
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&67. Animals without Red Blood Cells ara

(1] aartworm {2) fish (3 frog (4] man
Sal =i’ 3 srrren £0 4D
) el (2) L= (3) 24 (4) oo
58. The number of haarts in megascolex is
(1) 6 pairs (2) 7 palrs {3) 8pairs (4) 9pairs
(1) & ete (@) 7 eies (3)-8 =5e: () gsm((\
59. A13chambered haart occurs in ~ GO
{1} earthworm {2) fish (3) snail ‘.U“{q:pmcumach
13 M50 it Bio 80 (
(1) Tedra (2) &= 3 o 4) Fpes
&0. Mh:rmmpicpﬂﬂcemﬂnnlhudy@d
(1) Eosinophils (2) (3} Mewtrophils (4] Monocyte
"y O e el
P m"hh ::;. ﬂﬁx&. (A R (4) 2l
6. T ‘h&ﬂm&d after the clotting of blood is
(ﬁ&mnlm 2) deoxygenated blood
{53 plasma (4} serum
Ol Mo DT el R
(1) sielstrsoge (2) etypddiesog 48) 33y (4) bk
62. Porphyrin in blood is present in
(1} WBC (€) RBC
(3) Blood platelets (4} Lymphocyies
Sl 3BT B e

(1} Dedgteres (3) oy semes (3) el ——4) Bodpiwe
BPC/CGDM [11] (P.T.0.)
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63. Graveyard of red blood cells is

(1) bone mamow (2) lever
(3) spleen (4) pancreas
9 55 frre S rdtel D0 soerda 7

(1) wlmey (2) wdaba
A48) Svsw (4) Eszes

“ 64, Inwhich blood group, both antibodses ‘A’ and *B' are absent 7 (0
< TEgo 08 PO A Sobatin B'Ern-...‘l‘n..ur:“-:p" O

(1) A
(3) AB «Hl c \O(\
65. The percentage of the human populati , having Rh-factor is about

=5 Aded’ BB -3a5s ._...._-,-ﬂm.a,

:;: : \(\6\(\ fj,d-] &

66. Waler| r%anlaﬁwmﬁﬂhyahmnm

(1), @ n (2) indole acetic acid
ackd (4) ethylene

Doulh, mood el 20 eiENom DL WS

(1) @Re8 A 5o bt

(3) eniE emipoo (4) =ghs

67. Dicotyledonous weeds are destroyed by a chemical called
Baiar b By Dookh ofis e oty SrcEits

(1) 1AA (@) NaA
(3) ABA (4) 2,4-D

BPC/ICGDM (2]
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68. The growth region of a root is

{1) rootlip (2) below the root tip
{3) inbetween nodes {4) lower part of stem
Ll oA gt

(1) Doz empiion A2 35 Sl prition
(3) st Sl it (4) zododobgritiv

69. Which of the following is known as “Fight or Flight” hormone ? (0

(1) Cortisol (2) Aldosterone
(3) Adrenaline (4) Insul‘n‘ 0 p
2o8 T8 A0 Sty dfeesio Saonll IS mourts 3 \\
1) = ( 5
(3) JA=ns ; 66\3 B
70. In disease like polio, the get destroved by virus are
(1) sensory ne-urpa {2) motor neurons
(3) eryth (4) lymphocyles
8 ST el S
® o Tees (2) etordn
(3) oy srre (4) Bodpstucs
T1. The nerve in man controls the rate of heartbeat and secretion of pancreas is
(1) vagusnarve (2) spinal narve
(3) 12" ¢cranial nerve {(4) 8" cranial nerve
Sorrsn D Syt Shedio, Einuyiod Srereti Dotodcd od
}1-} R Aty 2oy reien
(3) 125l 4) B5red

BPC/CGDM k]| O PT.O)
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72, Number of cranial nerves and spinal nerves in peripheral nervous system

respectively.

(1) 12 pairs and 31 pairs (2) 12 pairs and 33 pairs
(3) 13 pairs and 30 pairs (4) 13 pairs and 32 pairs
{1} 12 ebben 2obatin: 31 =0 (2) 12 esbbes So0ait 33 wde:
(3) 13 sbes Sobottu 30 et AAT 13 st Saam 32 noe:

73. The numbser of neurons present in the cerebral cortex is about O(O
(1) 200 crores (2) 260crores O
{3) 320crores (4) Hﬂcmmsoﬂ’

1), 2008 f fb@ 3
(3) 3208% 05y
= . 6 i

74. Slem cuttings of dahlia, G%Wmuwﬂ as

(1) Hard wood {2) Semihard wood cuttings
(3) Scoh (4) Strongwood cuttings
sy, Dol Tookh & ol Tean O 0508 Dol
Or i (2) Tedem) o e
}‘ﬁ:‘aﬁm oD e "'jd-} M o Ssoreo
75. Which of the following are used generally to oblain haploid plants through tissue
culture ¥
(1) Calls from stem (2) Celis from root
(3) Cells from leaf (4) Pollen grains
IR 0T ol oo Droder D SR altriied wadriel
(1) sosed’s tres : (B s v
(3) Spos's srres (4) Sordespe:
BPC/CGDM [14]




DAL TR Q. Booklet A
Code

76. Meiosis takes place in

(1] Stigma (2) Filament
(3) Pollen mather cell (4) Pollan grain
Fristes ey A2 el
(1) derymion (2) Eisd soczy
(3) sowsronsris AT ey
77. The number of cells present in a mature embryo-sac is
G A SorE el dell Srro togy 0(0

(1) ) 6
(3 7 C[4) 8 O(\
78. The study of pollen grains is \
(1) Palynology d@gamnmy
6 4) Haematology

(3) Virology .
S0 Deasiheio APSy o uﬂ%}n
(1) Seed m\(\ (2) Stuncired

(3) Bored 6@ A browred

79. Inm 3‘14 to 17 segments are swollen and thick. This part is called
«.ﬂ‘ﬁ tellum {2) cocoon
(3) ovary (4} seminal vesicles
aorriyBhs 1 dinod 1 T gedmed® dis 48, Salam dotite. Hr sy Col
Pl (2) e
(3) & Demras (4) dpetate

80. The number of eggs lays by a female fly in a season is about
MW%%F&QM%‘}&W
{p'} 200400 (2) 500-600 (3) BOO-900 (4) 900—1000

BPC/CGDM [15] - (RT.O)
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81. By conjugation asingle parameacium produces
Pt e r:*"‘,'_.tf'.'..t-...a.:a..n.m suod Sd bo die oy,

(1) 2 ~A2) 4
(3) B (4) &

82. From 3 months of pragnancy, the embrya is callad
(1) Foetus (2) Child
{3) Placenta (4) Chorion
Keries a0l 3 55 The Dot D65et) Teaines 7

(1) e

413

daughter individuals.

(3) ooy {41 %O

B3. Inwoman menstrual cycle occurs ﬂﬁ@)

(1) 401052 days \ *\\‘U (2) 28 to 30 days

(3) 18 to 20 days ._\' oSN (4) 60 days

nod! I.a.-u..-l!j..h.',la %L B sseisrids 7

(1) 4?(}3432 () 28 faod 30t
18 204 20 Beres (4) 60 Fees

B4. Protection to the embryo against mechanical shocks is given by

(1) Choron (2) Placenta
(3) Amniotic fluid (4) Umbihcal cord
olroufe e Heod DeerE SRR S0
/H] S (2)  morcing
(3] ceptpiun (4) =D

BPC/CGDM [16]
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B85. Acrosome of sperm helps in
(1) digestion (2} excretion
(3} |ocomotion (4] fertilization
Rougsrr ool DEWD O So,6 Sihioo 7
(1) Sgdan A2y mg
(3) et (4) Hedstosio
86. HIVisa (0
(1) ANA virus {2) DNA virus OO

(3} Bacteria (4) Fungi

HIV e ... \O(\
(1) RMAZE Q\i&
(@) ooz d@
87. Shape of HIV virus is
(1) Trigonal 6\(\\6 (2) lcosahedral

{3) Circular z% (4) Owal

HIV e

o
(1) ns . (2) =Erirpd
&y&w () L-m:
gs. M

Vi not spread by the following ways
(1) mosquito bite
(2) unsale sax
(31 infectad mother to child
(4} through transfusion of infected blood
4 Sol Srgod HIV ol Dosich
} Shmin
[2)  obdeeh PoidHdohs o
(3) recinrnd med O
(4) Soobi oy sirtnd
BPC/CGDM 7 (P.T.0.)
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80, HIV virus changes its shape due to the following enzyme

(1) Endonuclease (2) Reverse transcriplasea
(3) Protease {4) Insulin

e 350 Jogtue sdesom HIV 0% 65 weEielis Srdiie dotuol

{1} 2o8larddbs AR bl Sdih

(3) Sl : (4) wuphs

90. One gram of fat gives kilo calories of energy. OO(Q

e oo £ Dol Boka ¥ 26 soben
(1) 549 \\O(\
(3) 945 d\&@?
g1, Calluloseisa
{1y mineral \(\6\(\\ (2 fat
(3) profein 66 (4) carbohydrate

‘:ﬁ.ﬁ e e {/,fﬂ’} Bl
(3) =ds (4) i

82, Deficiency of Iron causes

(1] anaemia [2) rickels
(3) scurvy (4) diabetes
vl 60 DR SEN T30
A8 eghn (@) o,
(3) S (4) catradh

BPC/CGDM [18]
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93. Which vitamin is destroyed on heating 7

a3 e et Bl DasluS D0 7
AN B, (2) ©
(3) E {4) A

94, Chemical name of Vitamin-B,

(1} Thiamine (2) Biotin (0
(3) Cyanocobalamin {4) Follc acid OO

B, oot oo, S mesoiss ¥ O(\'

(1) g A\

42

95, Chaolesterol present in m'g@h converted in our body inta the following
vitamin by the amiﬂ@l 1
ek 0 S0 ois SO0 Ooaod i #huad' D Dl Srde 7

{1@ U 2) B
N @ o

96. Measles caused by

(1) Arbo virus (2) Paramixovirus
(3) Myxovirus parotitis {4) Plasmodium
ey ) BovEl il

(1) =525 (2) Srorlnf, el
(3) 20’205 Deoadidn /W s Tee s

BPC/CGDM (18] (P.T.0)
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97. Persons affected with the following disease will have a pain in salivary glands,
a pain in opaning the mouth, ear ache, fever.

(1) Jaundice (2) Malaria
(3] Encephalitis (4) Mumgs
oo fofeed® Ty, St 004 og, 20 S, efo o8 S Th oo
(1) =2 (2) Sodoetr
A8) By (4) roa o

98. Encephalilis is spread by O(O
(1) Culex mosquito {2) Anocpheles

{(3) Tiger mosquito

) wa@O
Bodics Ty TR0 TR Dol
(3) Eow . G ) o
99. The originator of %X\
(1) Kar (2) Esmarch
(3) Sir (4) SirH. G. Hopkins

: g eaciagls 580
« f eroltash () =k,

(@) 4525 (4) 36052 525
100. Mational Institution of Nutrition is located at

{1} Chennai {2) Mumbai

{3} Hyderabad (4) Bangalora

ErO HSEERS ety dip Rl

(1) =% (2) mecod

1) pecws (4) Soniros

BPC/CGDM (20]
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PART -1l
PHYSICAL SCIENCE

101. When the screw gauge is usad to measure the diameater of a nail, the pitch scale

reading is found to ba 1.5 mm and the head scala reading is 18. The radius of the

nail is
(1} 1.68 mm (2) 084 mm
(3) 1.68cm . {4) 0.84cm
s feRlrnod e e dloll, TySe PSS 58 fpes 80 1.5 20 &, =
Bt 1B mirisid. bomnimic O
H,{*J 1.68 Do L. (2) 0.842.2 n,,
F (3 1.60 %0 :4‘.IEI'B
102, A body welghs 30 kg. wi. on the surf; Thawalghlufﬂwsambcrdy

on the surface of the moon |5

girdls 28 g5 ardo S0 @ﬂﬂﬂ.ﬂ:‘lﬂ}m

/LJ'} 90 kg, wi. % (3) 15 kg, wt, (4) 30 kg, wt.

103. The grawtan@%:e with which the earth attracts the moon

(1) & than the force with which the meon affracts the earth

'f. the same as the force with which the moaon atiracts the earth
{3) s mare than the force with which the moon atiracts the earh
(4) waries with the phase of the moon
D0 Dol Boitd B Enalh Aathergitn o
(1) ool Sud Pl o Smib Nbrrsie: poo Sof S

) el Det vl b Beafh Madsoreites merdd Hario

% (3] ooy Bescs £irds 3 Sankly M Emzses peo S0l Jen S

(4) Sogen Moyl Smtitood

BPC/ICGDM [21] (P-T.O.)
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104. A stone is projected verticalty upwards with a velocity of 19,6 m/s. Then its time of
fight is (g = 9.8 m/s?)

(1) 4sec (2) 3sec
(3) 2sec {4) 1sec
19.6 %0./%, 3508 o8 cronsd glecprr b 2008, oW A5 Peo (g = 9.8 misT).
4n 2 3% 3 2% (4) 1=
106. The final velocity of a vertically projected body at maximum height is
(1) equal to its initial velocity (2) half of its initial velocity ((
(3) twice 10 its initial velocity (4) zero O

P 8 D0 SRR k), dul ke, ADQ.D03 39

9 Geivotsese (2 & ‘\()(\’

- (3) FTTaiteey (4)
106, mmmwmnydmm ﬂhﬁti
(1) —rad!m \6 2 Emﬂrm
(2} %tﬂm@h
(4) &Muqm

107. Acar moves on a curved but level road. The necessary centripetal force on the car

is provided by

(1) inertia (2) gravity

(3) normal reaction of the car (4) frction between the tyres and the road
FazgEiy® Sgom dol By p o arriiged. A0 rachs ediof poo S Rued efnysd
(1) mEome (2) rooto

(B o edoow P0G ol (4) = Pob, Elcpm S0y di Sudos Ruod

BPC/CGDM [22)
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108. Ifthe langth of a simple pendulum is doublad, then its time period

(1) becomes half (2] becomes 2 times
(3) bacomes v2 times (4) remains same
R0z cluol, Sranpia Delod Thord Semign Toc
} i ool (2) 2By sipeen
(3) 2 Bawp wpncos (4) mrose
109. The wave length range of visible spectrum is
ey S Bl B S0
(1) 04 pum-07pum {2) OAdum—1nm |
},‘3} 07um=100pm (4) 0.4 nrn—l:l-‘?&m
110. The distance between two successive nodes Ing-s'lnl’ﬁuﬁ‘lﬁry wave is 15 cm. Then
the wave length is ‘ ( (&,
I 0 Biiafed" Do ammﬁﬁmeﬁ ol ol B4 oo et
A 15em " \k' {E] 30 cm
(3) 15m ‘ —_\\‘\ (4) 30m

111. TheLaser uﬁecﬂlurﬁiﬁﬁlsnﬂinaﬁun of the rate of rotation of the earth accurately is
(1) Ftuhy.r Laser—" (2) He-Xelaser (3) He-Nelaser (4) Xelaser

%Eu#u:‘m? PP BonGT andlrfied b
\ b {2) He-Xa &b (3) He-Ne&st (4 Xed:E

112, For destructive super position of waves, the phase difference between the waves

should be equal o
IS B0 elrE O S S Ao domd
M 2mn (2} En+)n

) [—+'] (4 [EHJ

BPC/CGDM [23] (P.T.0.)
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113. 1weber= A-m.
120f=__ A-m.
(1) 4m=10™" ﬁ 4nx107"
(3) 4nx10"® (4) dnx107
114, The magnetic moment of & barmagnet of Iength 5 crm and pole strength

115

116. Which of the rmlcwahmm conductor ?

3w 1078 A-m i
Somas 3 x ID'Eqﬁﬁggaﬁbﬁcﬂnﬁzmlaﬁjlﬂﬂi}Hﬂiﬂhmwﬁﬁﬁﬂ «\_

(1) 1.5 x 107 A-m?® /{2}' 3 x 107 A-m?
(3) 4.5 x 107 A-m? < sxteam . ()
A total charge of 960 coulombs flows ina conducto a:::f 8 miuntes. The
sirength of current in the conductor s
(1) 2amperes (2} 0.2amperas _ | %n&s {4) 0.3 amperes
LE Tirged’ B 2udved® 960 e e ol S Sl eriro
/L‘l'} 2 rachondy (2) o . (9) 3ol (4) 0.3ectoes

(1) Metals g (2} Junction diode
(3) rs {4) Electrolytes

g B v e ot

\W) ahre ) wogS ek

(3) egrsrro (4) Sdaheine
117. The unils of specific resistance are

(1) ohm (2} coulomb
[3) waolt {4) ohm-metre
G RETrd gRirrees
(1) &5 (2) et
(3) = M L5 owb

BPC/CGDM [24]
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118. The resistance of a wire is ‘R'. Il its length and cross-sectional area are duutrl&d,
then ils resistance is

LB 0850 R o Sy et Sodild Parerpeds Bty B o 286G

/14} g 2 R (3 2R (4) 4R
119. Two resistances 30 ohms and 60 ohms are connected in parallel to a 6 V pattery.
Then the current in each resistance is respectively.

;.zﬂ-vr:a_uﬂﬂﬂlﬂ 60 O HE'retic SiroliSor M. o M res® (Riinad Dol prorires

(1) 02A,02A (2) 0.1A01A (3 02A01A Hlé@g(k\

120. The working principle of a transformer is
(1) Ampere'slaw (2) Lenz'slaw (2 Se%b@ (4) Mutual induction
ot el D Sao e
/m ecbonl g (2) ﬂm’i@a d}ﬂ)w;ﬁn (4) ey

121' EHE"‘JI -+F.| D+
(1) electron (3) proton (4) neutron

ng)
@5@ (2) ZeerS @) s (4) smgers
122&

& isotope used for the determination of the age of a fossile is
Serero Sobinis Jorototdy (5o oSS
(1) “C &)U (2} ™1 (4) *Co

123. The half- Iﬂepemmamduacuuasmﬁlancﬂis‘T.ﬂummﬁquiremaradu::e
1gmm‘5uh5lannatu g 9m

B4 ol Sorh ol S0 soo T, 1gr::r-goﬂp-:m-gm-:ﬁ-ﬁu:r£,ﬂ=m
(1 T (2 2T

(3) 3T /Lﬂ."d-T

BPC/CGDM [25] (P.T.O.)
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124, The majority camiars in a n-lype semiconducion arg
(1) holes (2) electrons
{3) electrons and holes (4) positive ions
M- SE o oirfed’ Aol ol Sognt T4 Sory
(1) s M) Sogles
(3) oS Sabobs dos (4) coogedrSe
125. The lrequency range of radic communication are
Slclr marprEal dut, ol Bed (O
{1) 30 kHz - 30 MHz {33 kHz - 3 MHz QO
{3) 30 kHz - 3 MHz (4) 300 kHz—
126. The quantum number used for the of the sub-shadl is
(1} Principal quantum number quantum numbes
(3) Magnetic quantum numbegr 6 Span quantum number
S R0 S teseiiy Hosy
(1) mrxﬂm%% JA cemsodmpesson
(3) sty sbad (4) impesicn
127. Ale the 3d orbit, the alectron enfers in 10 orbil.
e el oot Jog S elperds ot
@1} 3P (2) dd
(3) 45 (4) 4P
128, f-orbitals are present in
(1) K-Shad (2) L-Shed
(3) M-Shell (4) N-Shell
Vealperes; ol st
M Koz (2) L-stptic
(3) Mestce (4) N-szoo

BPC/CGDM [28)



129. Shape of CO, molecule is

(1) Linear (2) Pyramidal
(3) Tetrahedral (4) 'V shape
CO, ey ety

(1) Shae (3 bomead
(3) Statobans (4) Vo

130. Thenumberol ‘o’ and*r' bondsin N, are

respactively.

N, &' 262 o' 2obate ' 1t wocre Hopy ST

(1) 2,1 2 3,1

(3 1,2 (4) 1,3

131. Co-crdinate covalent bond is present in A\
gol e’ And* ot Secirebal pedic 0’

(1) HO
f_;{.’ﬁ HCl

132. The ncomplete pen %
(1) & .‘)g (2) 5~

@ N (@ 7

Ki\@ (4) ::ﬂ

\
N\\

Dol ok
e (2) 53
(3) 6= A4 7=
133. The value of electronegativity from left to right of a periodic table
(1) increases (2) decreases
(3) remains same (4) may be increase or decrease
BOGLEE" e Hood A4 Mo Fol BundaTrtED Jesk
(1) s ﬁ B
(B) =roco (4) oty doronsay

BPC/CGDM [27]
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134. Which ol the following is an ore of Mg 7

{1} hematite (2) beryl (3) camalite (4} magnotite
dob 2d" Mg oz, oroesp
(1) (2) ood (3) =gas ﬁ AP
135. The formula of Epsom saltis
{m CaSO,7H,0 (2) MgSO,7H,O0 (3) MgCO,5H.0 (4) MgSO,5H.0
136. h'ﬂ-lir.hafmfdlm metal gives pamxldasnaddmunmm:rdasm in
excess of air 7

deb e’ D Suretio oBE MBS Soodo iy vl Bl I bohlo Ay,

(1) Ba /Lz} Ba (3) Mg '\O 1‘Ca

137. 10 grams of Na, CO, is dissolved in 190 gra . Tha weight parcentage of
solution (we) Is
190 gracos Dedd* 10 yraos Na, l:l:l' :@-ﬂq CracRh R ke
(1) 20 {2) 10 e (4) 25
138. 2.12 grams of sodi te (Na,CO,) is present in 250 mi of its solution. The
molarity of sol ular weight of Na, CO, = 106).
250 2. &. Ardabe TS (Na,CO,) 2. 125- o0 dtsonll e ey Dooerodd
(Na, o= 106 )
: M {2) 0.04M ) 0.02M {4) 0.01M
{ $
139. The pH value of neutral solution is
sy prairss PH Do
(1) O (2) 14 A% 7 (4) -7
140. Alkenes undergo
(1) Condensation reactions (2) Polymerization reactions
(3) Substitution reactions (4) Addition reactions
el Seo I 55

(1) Sofuss oo (2) Sfobstmog  (3) oo /,4‘,41 o Ot
BPC/CGDM [28]
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141. The name of — NH_ group is
(1} acidgroup (2) amine group (3) estargroup {4 ketonegroup

= NH, geoo b

(1) esoo 4 2ps (3) X6 {4) 455
142. The distance batween two successive graphite layers is

Bl Bt e St Sogh drdo

(1) 3.35 A° (2) 1.35A® /,,{ﬂ] 1.42 A" (4) 1.54 A"

143. Defecation is addition of (0
ayiag teds 0L Bogo O
(1) €O, @ CaOH), ) 80, &Qﬂi
144. Cement is a mixture of {’\O
(1) sodium silicate and gypsum 06
(2} calcium silicates and calcium alu 1@
{3) =andand clay

(4] calcium carbonate a@\e

PRooeT el g, s
(1) @rdono i S8 spmo b sty s one eyl
i3 oot mod S (4} =fobo Gy S T
145. 0—C-CH, is the struciure of
! Il
0
(17 Aspirin (2) Paracetamal (3] Detergent (4) Benzene
COOH

0 —C~ICH, oo 2n) dlty, Jorma 7
g
(1) wipas (2) doteard A8 deped (4) Scdd
BPC/CGDM [29] (P.T.0.}
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146. Shaving soap contains excess of
(1) builders (2) perfume
{3) glycerol {4) stearic acid
Aige Adoont T3 S D Sorgiw elgen dotued 7 ;
(1) rese (2) s e
/Vﬂ feerd (4] fesanh udine
147. Which of tha following is the sweatest sugar 7
(1) sucrose (2) gucose
(3) fructose {4) malose 0(0
e JoB TRE" DO o SR S5 7 0
(1) g @ e O(\'
O e @) s\
148. The formula of oleic acid is \)C)
Lol et ooty ol |

(1) €, H,, COOH (@) C,,H,, COOH
9;\\ "

(3) ::,,H,,cum-l \(\ (4) C,,H,, COOH

149. Chielcom
(1) * (2) ethana
3 (4) octane
N LE .
(1) wnpds (2) o35
/(-ﬂil e L (4) =35
150. The metal oxide impart green colour to the glass is
rrerds mlh 33 Sorb il o ek
(1) MnO, (2) Cr,0,
/{a} Cu S0, (4) Cu,O

BPC/ICGDM [30]
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